4.5.21
Daily Calculations with a twist...

Choose one of these problems to answer. Show Spgt the Mistake

workings out in your book. Justify your answer and use
589 — 70 is equal to 582

the following sentence stem:
Amir

| know........because

What should the answer be?

+ =800
Each of the missing numbers are Sort these calculations into two groups.
multiples of 100 Justify your answer.
257 + 60
Find all the possible missing numbers. 70 + 637
40 + 234

20 + 391
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Daily Calculations with a twist... .

x
Choose one of these problems to answer. Show

workings out in your book. Justify your answer and use

the following sentence stem:

| know........because

8X3=___
2X4X3=___
2X2X2X3=__

What do you notice?
Why do you think this has happened?

On a blank hundred square, colour
multiples of 8 red and multiples of 4 blue.

Always, Sometimes, Never

* Multiples of 4 are also multiples of 8

» Multiples of 8 are also multiples of 4



